Quick Setup Guide LTI

Super WiFi

Altai AX500-S Outdoor
2x2 802.11ac Wave 2 AP

Quick Setup Guide

Version 1.0

Altai Technologies Ltd. All rights reserved




Quick Setup Guide

INLT/N]

Super WiFi

Infroduction

Thank you for purchasing the Altai AX500 Series product. This guide provides
instructions to install the product and set it up as AP with minimal effort.

Package Contents

AX500-S Main Unit

<&

co@® /

*>>e

=

(d)

ik
m 1T

QU

(= = T = e}

Cable Gland x 3

i
e i3
PR

PoOE Injector

Quick Setup

(Optional Item)

Guide

Pole Mounting Kit

(a) Downtilt Bracket Set

M8 Screw

M8 Lock Nut

M8 Flat Washer

M8 Spring Washer

M4 x 10 Screw with Washers

(Shared with Wall Mounting Kit)
(b) Mounting Back Plate

M8 x 110 Mounting Screw

Flat Washer and Spring Washer

Wall Mounting Kit
(c) Mounting Bracket
M4 x 10 Screw with Washers
(Shared with Pole Mounting Kit)
(d) Drywall Mounting Screw
Hex Head Screw
Anchor with Flat Washer and Nut
Flat Washer and Spring Washer

x 1
X2

x 4
%2

x4
X1
X 4
X 4

x 1

X 4
X 4
X 4
X4
X 4



Quick Setup Guide INLTAI

Super WiFi

Hardware Overview

LED Panel

2.4G/5G WiFi Radios = = = = = = = ! r - Power

(AP/Repeater/Bridge Modes) O Off: No Power

@® Solid Green
1. AP Mode on but with no
Clients Associated

- (1) Flashing Yellow: AP Booting Up
(2) Flashing Green: AP Discovering/
Connecting to AltaiCare/AltaiGate/

2. Repeater Mode on but not
Access Controller

connected to Remote AP
3. Bridge Mode on but not
connected to Remote Peer

@® (1) Solid Yellow: AP Boot Up Finished
and Running in Standalone Mode
(2) Solid Green: AP Boot Up Finished

“G- Flashing Green: Data and Running in Thin AP Mode

}_______________

Transmitting/Receiving
O Off; Radio Disabled 4.‘5? "-?"' E?_ﬂ Ell;il'ﬁ o ) 1&\5

1 |
= = = Not Applicable for this AP Model
LAN (Ethernet 0/1) - — ' PP

@ Solid Blue/Green: LAN Connected with
1Gbps/100Mbps of Ethernet Speed

‘D Flashing Blue/Green: Data Transmitting/Receiving

O Off: LAN Disconnected

Ethernet Ports, Console Port and Ground Point

Ground Point
Ethernet Port O Ethernet Port 1

(PoE+ Dataln) )

R
| 3 (Data In)
I
I
|

Top

|
|
|
|
I
|
‘1
=)
(Bottom View)

Bottom




Quick Setup Guide INLT/A]

Super WiFi

Console ——

I
I
I
1
i
I
el

AN\ Gk kY

(Top View)

Bottom

ETHO (PoE):

It is used to connect to power source (see the Power Options in the later
section) and provides 10/100/1000 Mbps network interface for LAN
connection.

ETH1:
It provides 10/100/1000 Mbps network interface for LAN connection with

peripherals.

Console:
It is used to connect to the computer for local Command Line Interface (CLI)
access using a standard DB9 to RJ45 console cable.

Ethernet/Console Cable Feed-Through
Seal the RJ45 cable Connector with the provided cable gland.

1. Feed the end of the cable Cable Gland Body
(O-ring Inside)

through the cap nut, sealing
sleeve and cable gland body as
shown in the picture below.

L —~ CapNut
2. Connect the cable to the
Ethernet/Console Port.

L - Sealing Sleeve

"1~ RJ45 Connector



Quick Setup Guide INLT/A]

Super WiFi

3. Tighten the locknut to fix the cable gland body to the AP chassis.

4. Tighten the cap nut.

Ground Point:
It is for AP chassis grounding. Use size 10
AWG ground wire (not included) and

L -~ Ground Screw

i i i - Ground Wi

attach it to the chassis using the PO VHER
" Ground ! (size of 10AWG
provided ground screw. Connect the 4 s

Point

other end of ground wire to a reliable @
earth ground point at site.

Mounting Options

[—d Note: AX500-S is an integrated-antenna AP model which is designed to provide WiFi
'__,'J coverage over a sector area. When mounting AP on site, make sure the front antenna
panel points to the target area. For details of antenna information and installation, refer
to AX500 installation guide.

Option 1: Wall Mount Installation angle: 90°

\ Determine where the AP is to be

placed and mark location on

the wall surface for the four
mounting holes.

v

o Concrete Wall Mount:
Use the appropriate drill bit =
to drill four holes of 8mm
diameter and 37mm depth
on the markings and

a0

------

hammer the bolfs into the
openings.




Quick Setup Guide INLT/A]

Super WiFi

Drywall Mount:

Drive the mounting screws into
the wall on the markings.

o Place the spring and
flat washers on the M4

round head screws and
drive the screws 1o

attach the mounting

plate to the back of the
Access Point.

Concrete Wall Mount:

Attach the device onto the wall
by tightening the bolt's nuts
with flat and spring washers to

secure the mounting plate to
the mounting surface.

Drywall Mount:

Insert the screws through the flat and
spring washers. Then attach the
device onto the wall by tightening

the screws to secure the mounting

plate to the mounting surface.




Quick Setup Guide NLT/\]

Super WiFi

Option 2: Pole Mount (For 1 inch to 3 inches of pole diameter) Installation angle: 180°

Assemble the downtfilt
bracket components
with M8 screws, flat
washers, spring washers
and lock nuts as shown
in the drawing.

o Place the spring and flat
washers on the M4 round
head screws and drive the
screws to attach the downtfilt
bracket to the back of the
Access Point.

Align the mounting back
plate and the Access
Point on the pole. Insert
the long screws through
the mounting Back Plate
and the downtilt bracket
and fighten it with the
screw hex heads and
washers.




Quick Setup Guide ANLT/A]

Super WiFi

Flace the spring and flut washers on
the M4 round head screws and drive
the screws to oftach the mounting
plale fo the back of the Accass Point.

o Place the spring and flat washers on the
M4 round head screws and drve the
screws o aftach fthe pole mount
bracket to the mounting plate.

Thread the open end of
the hose clamg through
the twao slots on the pole
mount bracket.

For the Pole of For the Pole of
Yertical Alignment  Horizonial Alignment

o Determine where the
AP is to be placed.
Lock and fighten
hose clamp to secure
pole mount bracket
to the oole.

For the Pole of _
Vertical Alignment

For the Pole of
Horizontal Alignment




Quick Setup Guide INLT/A]

Super WiFi

Setup Requirements and Preparation

e A computer with Web Browser. Google Chrome, Mozilla Firefox, or
Microsoft Internet Explorer 8 (or above)

o Two Caft 5e/6 Ethernet cables

e AltaiCare account (Optional) for cloud AP management and user service

Power Options and Cable Connection Instructions

You can follow one of the options below for AX500-S configuration as
described in the following sections.

Option 1: 802.3at-Compliant PoE switch

1.Connect AX500-S EthO (PoE) port to
an 802.3at PoE Switch with an

Ethernet Cable. Pro—
2.Connect a computer to the switch. HHHHHHH
3.Make sure the Power LED light is 802.3at — Compliant

yellow and the LAN LED light is blue. PoE Switch

Option 2: PoE Injector (Ordered separately)

1. Connect AX500-S Ethernet port to a
PoE Injector's "PoE" port with an
Ethernet Cable.

2. Connect a computer to the PoE
Injector's "LAN" port with another
Ethernet Cable.

3. Connect the PoE Injector to AC
power socket using a power cord
(Not provided in the package).

4. Make sure the Power LED light is
yellow and the LAN LED light is blue.




INLT/N]

Quick Setup Guide Super WiFi

1. Change TCP/IP Setting on Your Computer

For Windows 7 users,

1. Go to Control Panel, click Network and Sharing Center and then choose
the adapter that you want to connect to AX500-S unit. In this example,
adapter "Local Area Connection” is in connection with AX500-S. Click it
and then click *Properties.

OU |52 « Al Control .. » Network and Sharing Center

vlt,“ Search Control Pane

P

Contrel Panel Home

Manage wireless networks l&

Change adapter settings

o

View your basic network information and set up connections

¢

w

See full map

HK-TAYLORWANO2 altaitechnologies.com Internet
Change advanced sharing (This computer)
Iings View your active networks Connect or disconnect
[ : m“mmm “(CQSS typc: - -]fllﬂﬁ- —————
L Domain network

. Under the Networking tab, click Internet Protocol Version 4 (TCP/IPv4) in

the following items”, and then click

Subnet mask:

. Click OK to close the Internet Protocol Version 4 (TCP/IP) Properties dialog

box and click OK again to close the Local Area Connection Properties

2
the list box "“This connection uses
Properties.
3. Type in the following IP address and
e |P address: 192.168.1.2
e Subnet mask: 255.255.255.0
4
dialog box.
'_,L;' Local Ama(o:necg Pmp_emes _ w
Networkng | Sharing|
Connect using:
¥ Intel(R) 82579LM Gigabt Network Connection

This connsction usas the fallowing tems

! S8 File and Printer Sharing for Microsaft Netwarks

¥ & Ekahau User Protocol Driver for NDIS 6

[ -2 itel{R) Advanced Network Services Protocol

¥l -4 Intemet Protocol Version & (TCP/IPvE)

L2 temet Protocol Version 4 (TCP/1Pvé) |

Wl & Link-Layer Topology Discovery Mapper L/O Driver
Wi & Link-Layer Topology Discovery Responder

4 1]

-

E

~

| Propertes

|’ ;!_l - | rirstall
Description
Transmission Control Protocol/intemet Protocol. The defaut

wide area network protocol that provides commurscation
across diverse interconnecied networks

|[ comcel |

Internet Protocol Version 4 (TCP/1Pvd) Properties

You can get IP settings assigned automatically if your network supports
this capability, Otherwise, you need to ask your network administrator
for the appropriate IP settings.

(") Obtain an IP address automatically
@ Use the following IP address:

IP address: 192 .188., 1 . %
Subnet mask: 255 .255 ,255 ., 0
Default gateway:

Obtain DNS server address automatically
0 Use the following DNS server addresses:
Preferred DNS server:

Alternate DNS server:

[T vakdate settings upon exit

[ I

ok || cancel




Quick Setup Guide INLT/N]

Super WiFi

2. Access to Web Interface

. Open a web browser. Type 192.168.1.222 in the address bar and then hit
Enter.

" New Tab x \\

C | D 192.168.1.222

2. Login page will come up and you are required to enter username and
password. By default, the credentials are:

e Username: admin

e Password: admin

3. Click Login.

|8]|l=l®] 52 |
[} AXS00-SOutdoor 2280 X \\
= C | ® Not secure | 192.168.1.222/cgi-bin/luc ot 5] ‘

T TeTd
A L A I Firmware Version: 3.137 |

CPU Load: 0.09, 0,12, 0411 |
Upnroes 001 0301 575 |

Authorization Required

Please enter your username and password.

Username: fadmin |

Password: |seses ]

Login | Reset .

10



Quick Setup Guide NLT/\I]

Super WiFi
3. Configure AP Mode (2.4G/5G)
Network Scenario
ISP v
Gateway/Router AXS00-5
Mosem e AP Mogel
AN
2.4G + 5G
Internet —1 Coverage D
Modem Ethernet Ethernet
Cable Cable Cable

Go to Configuration > Wireless > Radio0(2.4G)/Radio1(5G) > General. Below
screenshots show an example for 2.4G radio configuration only. Same
procedures can be applied to 5G radio configuration.

1. Make sure the box of Enable Radio is checked. Select AP mode for the
field of Radio Mode. Then click Submit.

Configuration

Administration

Radin0(2 4G)
Radio0(2.4G) Setting
| General | [ ]| | [ees] | submt
: Enable Radio: E
1 Radio Mode: [AP v I
i it s il T s S R e e e T T e T ]
Wireless Mode: [2 4Gz 144Mbps(B02. 11ng H120) v]

I Legacy 11b Data Rate Support: {5 5/11M (Good compatibility/Good performanc ¥ |

Channel: [2412MH;[Channel 1) ¥ |

Maximum Clients: P55 ] (1-2¢8)

&) User Isolation in different WLAN (SSID):

Band Steering Mode: [D‘sab]eg vl

Client 05 Detection; [Status]

2. Click WLAN and click More... in Detail of WLAN 0 fo go to another page

for SSID and security configuration.
Radio0(2.4G) Setting

I | | WIAN ] ] I | ] Submit

WLAN Configuration

Emable Max WLAN Station
SSID Isolation Auth Mode Access Traffic Right Uplink /Downlink Uplink /Downlink  Detail
WLAN Qients
Control Control

——y

70 - gpen  |Full Access | [ | 1P ][W,_,“ I

Hide SSID

- ol

11



Quick Setup Guide ANLT/\I

Super WiFi

3. Make sure WLAN is enabled by checking the box. Type in S$SID to name

the wireless network you want to broadcast and then click Submit.

Radio0(2.4G) WLANO Setting
|| [l I | Submt

|WL.ANGenera!|[ || ||

D user Isolation: ¢
) DHCP Trusted Port:

Enable WiFi Sysiog:

Access Traffic Right: [Fu!l Access v]|

Max Clients: [J55 ] (1-238)

&) 802.41r FT Roaming:

Mobility Domain ID: [B00 ] (1-65538)

© 802.11w PMF:

Client SNR Threshold for Association: [ ]

Back 10 WLAN List Submat

4. Click the tab WLAN Security. Select WPA2-PSK from the drop down menu
of Authentication Mode and select AES for Cipher Mode. Type in o
password within 8~64 characters or numbers in Pass Phrase and click
Submit.

Radio0(2.4G) WLANO Setting

I | wan securty | [ 7o I Il | Sk
WLAN Security Setting

: Authentication Mode: [WPA2-PSK vl
1 |
1 Cipher Mode: [AFS v 1
o s e e s e B S S S B S B S W 4
Group Key Update Interval: [B6400 1ts
L K 0 R R ¢ &R R L &R R ¢ R _J§_§_JN_§ J R _ § & &R N J§ _§ N _J§ &R 8§ _§ § J -I
= Pass Phrase: | 10 Show 1
L---------‘------------------------'

5. Click Save & Apply at the top right corner to have all changes take effect.

6. HOOk Up the AXSOO-S as ShOWﬂ in NetWOFk Wireless Network Connection A
Scenario. The SSID should now be | amasiaxsoo Connected
proodcost from AXSQO—S and can b-e SO || A
in the computer for wireless connection.

Open Network and Sharing Center

12



Quick Setup Guide

ALT/AI

Super WiFi

4. Connect with Cloud-Based Controller - AltaiCare

Network Scenario:

AltaiCare

ISP Modem &

HHH

A

“Local Gateway/ ™~
Router

AX500-S_1 (AP) = =

.

7 AX500-S_2 (AP)

1. You can manage your AX500-S and set up hotspot service for the
subscribers with AltaiCare, which is a cloud-based system.

2. Go to Configuration > Network > General. Select Switch Mode for Network
Setting and make sure the AX500-S can reach Internet and communicate
with AltaiCare by inputting valid IP settings either via DHCP or with Static IP
configuration. Google Public DNS Server can be considered, ¢.g. 8.8.8.8 or
8.8.4.4 if you are not sure about the ISP DNS's Server IP.

Administration

General Port Forward sfe Mode
General Network Setting
Network Setting WANI/LAN Interface Assignment Submit
: Network Setting: | Switch Mode v] : Enable NAT Mode: A

Enable IPv6:

WAN Setting(IPva)

LAN Setting(IPv4)

IPv4 Address: |162 . 168 LM00 L30

1
1
1
1
IPv4 Subnet Mask: D55 | 255 . 255 LD 1
IPv4 Default Gateway: 192 . 168 [. 100 L[ :

!

IPvA DNS Server P FE5F [Xd g
Address: [153 168 100 1 ]

WAN Setting(IPve)

LAN IP Address: na

LAN IP Address Mask: na

Ethernet Setting

Internet Connection Type:

STP Setting

Enable STP Mode:

Mode Speed
etht 100Mbps/F
etho

100Mbps/Fu

13



Quick Setup Guide INLT/N]

Super WiFi

3. Click Remote Mgmt and check the box of Enable Remote Management.
Select AltaiCare as Management Type and Cloud as Connection Type.

Remote Management

: Enable Remote Management: ¢ :
: Management Type: [AltaiCare ']:
1 1
i Connection Type: [Cloud ay
e o o e o e i 0 e e i e O s B S S S D S S S G 4
Radio0(24G): |Full Management dl
Radio1(5G): | Full Management |

Submit

4. Select Full Management if the device is running in AP Mode. For Station
Mode, Bridge Mode and Repeater Mode, select Monitor Mode instead.

5. Click Submit and then Save & Apply at the top right corner to make all the
changes take effect.

6. Follow AltaiCare Quick Start Guide and register the AX500-S in the system
for AP management and user service and admission control.

7. AX500-S will appear as online in AltaiCare AP list if the connection is
successful.

AP LISt Show Firer OO0

AXED0-S 2 2a 00112  AXS00S33000C s s I'I v
B o 0 10 S S 0 S B - D S £ S S S S SO 0 0 0 S -0 S0 S S5 S0 S S D S O N D 00 D 0
m THROUGHPUT TODAY TOPUSAGE  TCDAY BOTTOM USAGE

TRAFFIC - U - |

- - L*M L




Quick Setup Guide NLT/AI]

Super WiFi

Federal Communication Commission Interference Statement (FCC) - USA

This equipment has been tested and found to comply with the limits for a Class B digital device, pursuant to
Part 15 of the FCC Rules. These limits are designed to provide reasonable protection against harmful
interference in a residential installation. This equipment generates, uses and can radiate radio frequency
energy and, if not installed and used in accordance with the instructions, may cause harmful interference
to radio communications. However, there is no guarantee that interference will not occur in a particular
installation. If this equipment does cause harmful interference to radio or television reception, which can be
determined by turning the equipment off and on, the user is encouraged tfo try to correct the interference
by one of the following measures:

» Reorient or relocate the receiving antenna.

» Increase the separation between the equipment and receiver.

* Connect the equipment into an outlet on a circuit different from that to which the receiver is
caonnected.

+ Consult the dealer or an experienced radio/TV technician for help.

FCC Caution: Any changes or meodifications not expressly approved by the party responsible for
compliance could void the user's authority fo operate this equipment,

This device complies with Part 15 of the FCC Rules. Operation is subject to the following two conditions: (1)
This device may not cause harmful interference, and (2) this device must accept any interference received,
including interference that may cause undesired operation.

This transmitter must not be co-located or operating in conjunction with any other antenna or transmitter.

Please install a lightning arrestor to protect the base station from lightning dissipation during rainstorms.
Lightning arrestors are mounted outside the structure and must be grounded using a ground wire to the
nearest ground rod or item that is grounded.

IMPORTANT NOTE:

FCC Radiation Exposure Statement:

This equipment complies with FCC radiation exposure limits set forth for an uncontrolled environment. This
equipment should be installed and operated with minimum distance 36cm between the radiator & your
body.

The antenna gain, antenna type, and output power that can be used for the device, that the info listed below are
correct and represent the product in consideration under this filing.

Gain (dBi) Limit of MAX. Output Power(mW)
Model Type 24GHz Connector 5GHz S5GHz
5GHz Band 2. 4GHz
Band U-NII-1 U-NII-2
AX500-S | Intemal Sector Smarl ANT 8.8 141 MNA 523.051 4 871 150 431

15




AX500 transmit power setting

Product 2.4 GHz 5.150 - 5.250 GHz 5.725 - 5.850 GHz

AX500-S 11b 11a 11a
Ch 1: 26dBm Ch36: 6dBm Ch149: 21dBm
Ch6: 27dBm Ch40: 6dBm Ch157: 21dBm
Ch11: 26dBm Ch48: 6dBm Ch165: 21dBm
11g 11n(HT20) 11n(HT20)
Ch1:23dBm Ch36: 6dBm Ch149: 21dBm
Ch6: 26dBm Ch40: 6dBm Ch157: 21dBm
Ch11:23dBm Ch48: 6dBm Ch165: 21dBm
11n(HT20) 11n(HT40) 11n(HT40)
Ch1:22dBm Ch38: 6dBm Ch151: 21dBm
Ch6: 26dBm Ch46: 6dBm Ch159: 21dBm
Ch11:23dBm 11ac(VHT80) 11ac(VHT80)
11n(HT40) Ch42: 6dBm Ch155: 21dBm
Ch3:21dBm
Ch6: 23dBm

Ch9: 23dBm




Quick Setup Guide ANLT/\]

Super WiFi

European Conformity (CE) - EU

This is a Class B product. In a domestic environment, this product may cause radio inferference, in which
case the user may be required to take adequate measures.

C€

Warning
AX500-S may require professional installation depending on the deployment scenario.

Only use the power adaptor supplied with AX500-S. Using a different power adaptor might damage the
device.

Disclaimer

All specifications are subject to change without prior notfice. Altai Technologies assumes no responsibilities
for any inaccuracies in this document or for any obligation fo update information in this document. This
document is provided for information purposes only. Altai Technologies reserves the right fo change, modify,
transfer, or otherwise revise this publication without notice.

Copyright © 2018 Altai Technologies Limited
ALL RIGHTS RESERVED.

Altai Technologies Limited

Unit 209, 2/F, Lakeside 2,

10 Science Park West Avenue,
Hong Kong Science Park,
Shatin, New Territories,

Hong Kong

Telephone: +852 3758 6000

Fax: +852 2607 4021
Web: www.altaitechnologies.com

Customer Support Centre:
Email: support@altaitechnologies.com

Altai Technologies Ltd. All rights reserved




